

$$f(x) = x + \sqrt{x} = (\sqrt{x+1})^2 - 1 \rightarrow (\sqrt{x+1})^2 = y+1 \Rightarrow \sqrt{x+1} = \sqrt{y+1} \Rightarrow \sqrt{x} = \sqrt{y+1} - 1$$

min $\sqrt{x} \geq 1-1=0 \rightarrow y \geq 0$

$$\rightarrow x = (\sqrt{y+1} - 1)^2 \rightarrow y = (\sqrt{x+1} - 1)^2 \rightarrow f^{-1}(x) = (\sqrt{x+1} - 1)^2$$

$$Df = Rf = [0, +\infty)$$

$$Rf = Df = [0, +\infty)$$

$$y = x - 1 + \sqrt{x} \rightarrow \text{معمولی است} \rightarrow \text{دو طرفه مساوی می‌کنیم} \rightarrow x = x - 1 + \sqrt{x}$$

$$1 = \sqrt{x}$$

$$x = 0$$

$$y = 0 \rightarrow \frac{1-1}{0} = \frac{0}{0}$$

$$f(x) = x^2 + 5x \rightarrow \text{معمولی است}$$

$$y = \sqrt{f^{-1}(x)} - x \xrightarrow{\text{معمولی است}} f^{-1}(x) \geq x \rightarrow x, f(x) \rightarrow x, x^2 + 5x \rightarrow x^2 + 5x \leq 0$$

$$x(x+5) \leq 0 \Rightarrow x \leq 0$$

معمولی است

$$f(x) = -x + \sqrt{x+5} \xrightarrow{\text{معمولی است}} x = -y + \sqrt{y+5} \xrightarrow{\text{معمولی است}} x = -(-y) + \sqrt{y+5}$$

$$x = -(y+5) + \sqrt{y+5} \rightarrow y+5 = -(y+5) + \sqrt{y+5} \rightarrow t-1 = -t+\sqrt{t} \rightarrow 2t-1 = \sqrt{t}$$

$$y = x-5 \rightarrow x = y+5$$

$$\hookrightarrow t = 4t^2 - 4t + 1 \rightarrow 4t^2 - 4t + 1 = 0 \rightarrow t = \frac{4 \pm \sqrt{16-4}}{8} \rightarrow t = \frac{4 \pm \sqrt{12}}{8}$$

$y+5=1 \rightarrow y=-5 \Rightarrow x=0$

$y+5=\frac{1}{4} \rightarrow y=-\frac{19}{4} \Rightarrow y < -5 \Rightarrow \text{معمولی است}$

$$\sqrt{x} + \sqrt{y} = 2 \xrightarrow{\text{معمولی است}} \sqrt{y} + \sqrt{x} = 2 \rightarrow f(x) = f^{-1}(x)$$

$$f \circ f(x) = f \circ f^{-1}(x) = x \Rightarrow$$

$$Df = Rf \Rightarrow x=0 \rightarrow y=5 \Rightarrow Df = Rf = [0, 5]$$

